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1. If the equation of the circle is 𝜸𝒙𝟐 + (𝟐𝜸 − 𝟑)𝒚𝟐 − 𝟒𝒙 + 𝟔𝒚 − 𝟏 = 𝟎 , 

then the Centre is –  

a. (2/3 , -1) 

b. (4/3 , -1) 

c. ( - 2/3 , 1) 

d. (2/3 , 1) 

 

2. The diameter of the circle concentric to the circle 𝒙𝟐 + 𝒚𝟐 + 𝟒𝒙 −

𝟐𝒚 = 𝟐𝟎 and passes through the origin is –  

a. 10 unit 

b. √𝟐𝟎 unit 

c. √𝟓 unit 

d. None of these. 

 

3. The equation of the circle for which the line segment joining the 

points A(3, -5) and B(-3, 7) is a diameter , is –  

a. 𝒙𝟐 + 𝒚𝟐 + 𝟐𝒚 + 𝟒𝟒 = 𝟎 

b. 𝒙𝟐 + 𝒚𝟐 − 𝟐𝒚 + 𝟒𝟒 = 𝟎 

c. 𝒙𝟐 + 𝒚𝟐 + 𝟐𝒚 − 𝟒𝟒 = 𝟎 

d. 𝒙𝟐 + 𝒚𝟐 − 𝟐𝒚 − 𝟒𝟒 = 𝟎 

 

4. The circle (𝒙 + 𝟐)𝟐 + (𝒚 − 𝟑)𝟐 = 𝟒 touches –  

a. Both the axes. 

b. The x-axis 

c. The y-axis. 

d. None of these. 

 



5. The equation 𝒙𝟐 + 𝒚𝟐 + 𝟐𝒈𝒙 + 𝟐𝒇𝒚 + 𝒄 = 𝟎 represents a point-circle 

when –  

a. 𝒈𝟐 + 𝒇𝟐 = −𝒄 

b. 𝒈𝟐 − 𝒇𝟐 = 𝒄 

c. 𝒈𝟐 + 𝒇𝟐 = 𝒄 

d. −𝒈𝟐 + 𝒇𝟐 = 𝒄 

 

6. The area of an equilateral triangle inscribed in the circle 𝒙𝟐 + 𝒚𝟐 −

𝟒𝒙 − 𝟔𝒚 = 𝟐𝟑 is –  

a. 𝟐𝟕√𝟐 𝒔𝒒. 𝒖𝒏𝒊𝒕𝒔. 

b. 𝟐𝟕√𝟑 𝒔𝒒. 𝒖𝒏𝒊𝒕𝒔. 

c. 𝟐𝟕√𝟓 𝒔𝒒. 𝒖𝒏𝒊𝒕𝒔. 

d. 𝟐𝟓√𝟑 𝒔𝒒. 𝒖𝒏𝒊𝒕𝒔. 

 

7. The coordinates of two extremities of a diameter are (x , 3) and  

(3 , 5) and centre is at (2 , y). Then x & y are –  

a. 2 , 3 

b. 3 , 2 

c. 1 , 4 

d. 4 , 1 

 

8. The point lies on the circumference of the circle 𝒙𝟐 + 𝒚𝟐 = 𝟏𝟔 is –  

a. (0 , 2) 

b. (4 , 3) 

c. ( - 4 , 0) 

d. ( - 2 , 3) 

 

9. The point lies on the circumference of the circle (𝒙 − 𝟐)𝟐 +

(𝒚 + 𝟑)𝟐 = 𝟐𝟓 is –  

a. (0 , 0) 

b. ( - 2 , 0) 

c. (1 , - 4) 

d. (0 , - 2) 

 

10. The radius of the circle 𝒙𝟐 + 𝒚𝟐 + 𝟒𝒙 − 𝟖𝒚 = 𝟓 is –  

a. 5 unit 

b. 4 unit 

c. 3 unit 

d. 6 unit 

 

 

 



11. The equation of the circle which is concentric with the 

circle 𝒙𝟐 + 𝒚𝟐 = 𝟖 and whose radius is  4 unit , is –  

a. 𝒙𝟐 + 𝒚𝟐 = 𝟒 

b. 𝒙𝟐 + 𝒚𝟐 = 𝟏 

c. 𝒙𝟐 + 𝒚𝟐 = 𝟏𝟐 

d. 𝒙𝟐 + 𝒚𝟐 = 𝟏𝟔 

 

12. The circle (𝒙 − 𝟒)𝟐 + (𝒚 − 𝟑)𝟐 = 𝟗 touches –  

a. The x-axis. 

b. The y-axis. 

c. Both the axes. 

d. None of these. 

 

13. The point (0 , 0)         ?         the circle 𝒙𝟐 + 𝒚𝟐 + 𝟐𝒙 − 𝟐𝒚 = 𝟐 . 

a. Lies on 

b. Lies inside 

c. Lies outside 

d. Is the centre of 

 

14. The point (2 , -1)         ?         the circle 𝒙𝟐 + 𝒚𝟐 − 𝟒𝒙 + 𝟔𝒚 = −𝟖 

a. Lies on 

b. Lies inside 

c. Lies outside 

d. Is the centre of 

 

15. The length of the diameter of the circle 𝒙𝟐 + 𝒚𝟐 + 𝟒𝒙 − 𝟕𝒚 = 𝒌 

is 9 . Then k = ?  

a. 1 

b. 2 

c. 3 

d. 4 
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